

On a solution to equation with discrete multiplicative-additive derivative

N. A. Aliyev, T. S. Mamiyeva

Abstract. As it is well known, a discrete differential equation (basically, with additive derivative) is called a difference equation [1–3]. The Cauchy problem for such kind of equations is considered in [4]. Several initial and boundary value problems for additive derivatives are also considered in [5].

Mathematics subject classification: 39A12, 34N05.

Keywords and phrases: Discrete additive analysis, multiplicative discrete analysis, additive-multiplicative and multiplicative-additive derivatives.

The subject of this paper is to study the solution to non-linear differential problems. The domain of solution determination is divided into a grid with step h for discretization of the problem for ordinary differential equations. Here, we accept $h = 1$. Therefore, we do not need the result as a continuous process.

As well as the equation, additional conditions can also be non-linear. It is based on discrete additive derivative, discrete multiplicative derivative and discrete integrals.

Let consider the equation with differentiation as follows:

$$y_{i+3} = y_{i+2} + \frac{f_i \cdot (y_{i+2} - y_{i+1})^2}{y_{i+1} - y_i}, \quad i \geq 0. \quad (1)$$

In order to solve this equation, we firstly find the equality describing how this sequence is obtained by giving values to i . If $i = 0$, then we obtain from (1)

$$y_3 = y_2 + f_0 \cdot \frac{(y_2 - y_1)^2}{y_1 - y_0}, \quad (2)$$

if $i = 1$, then

$$\begin{aligned} y_4 &= y_3 + f_1 \cdot \frac{(y_3 - y_2)^2}{y_2 - y_1} = y_2 + f_0 \frac{(y_2 - y_1)^2}{y_1 - y_0} + f_1 \frac{(y_3 - y_2)^2}{y_2 - y_1} = \\ &= y_2 + f_0 \frac{(y_2 - y_1)^2}{y_1 - y_0} + f_1 f_0^2 \frac{(y_2 - y_1)^2}{y_1 - y_0}, \end{aligned} \quad (3)$$

if $i = 2$, then

$$\begin{aligned}
y_5 &= y_4 + f_2 \frac{(y_4 - y_3)^2}{y_3 - y_2} = y_2 + f_0 \frac{(y_2 - y_1)^2}{y_2 - y_0} + f_1 f_0^2 \frac{(y_2 - y_1)^2}{(y_1 - y_0)^2} + f_2 \frac{f_1^2 (y_3 - y_2)^3}{(y_2 - y_1)^2} = \\
&= y_2 + f_0 \frac{(y_2 - y_1)^2}{y_1 - y_0} + f_1 f_0^2 \frac{(y_2 - y_1)^3}{(y_1 - y_0)^2} + f_2 f_1^2 f_0^3 \frac{(y_2 - y_1)^4}{(y_1 - y_0)^3} = \\
&= y_2 + \sum_{k=0}^2 \left(\prod_{p=1}^{k+1} f_{k+1-p}^p \right) \frac{(y_2 - y_1)^{k+2}}{(y_2 - y_0)^{k+1}}. \tag{4}
\end{aligned}$$

So we obtain

$$y_{i+3} = y_2 + \sum_{k=0}^i \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p, \quad i \geq 0. \tag{5}$$

Now let prove the relation obtained in (5) by mathematical induction.

We just proved that the statement (5) holds for $i = 2$. Let show that if (5) holds for $i \leq q - 1$, then also it holds for $i = q$:

$$\begin{aligned}
y_{q+3} &= y_{q+2} + \frac{(y_{q+2} - y_{q+1})^2}{y_{q+1} - y_q} \cdot f_q = y_2 + \sum_{k=0}^{q-1} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p + \\
&+ f_q \frac{\left[y_2 + \sum_{k=0}^{q-1} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p - y_2 - \sum_{k=0}^{q-2} \frac{(y_2 - y_1)^{k+2}}{(y_2 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p \right]^2}{y_2 + \sum_{k=0}^{q-2} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p - y_2 - \sum_{k=0}^{q-3} \frac{(y_2 - y_1)^{k+2}}{(y_2 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p} = \\
&= y_2 + \sum_{k=0}^{q-1} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p + f_q \frac{\left[\frac{(y_2 - y_1)^{q+1}}{(y_1 - y_0)^q} \prod_{p=1}^q f_{q-p}^p \right]^2}{\frac{(y_2 - y_1)^q}{(y_2 - y_0)^{q-1}} \prod_{p=1}^{q-1} f_{q-1-p}^p} = \\
&= y_2 + \sum_{k=0}^{q-1} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p + f_q \frac{(y_2 - y_1)^{q+2}}{(y_1 - y_0)^{q+1}} \cdot \frac{f_{q-1}^2 f_{q-2}^1 \dots f_0^2}{f_{q-2} f_{q-3}^2 \dots f_0^{q-1}} = \\
&= y_2 + \sum_{k=0}^{q-1} \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p + \frac{(y_2 - y_1)^{q+2}}{(y_1 - y_0)^{q+1}} \cdot f_q \cdot f_{q-1}^2 \cdot f_{q-2}^3 \dots \times \\
&\quad \times f_1^q \dots f_0^{q+1} = y_2 + \sum_{k=0}^q \frac{(y_2 - y_1)^{k+2}}{(y_1 - y_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p \tag{6}
\end{aligned}$$

thereby showing that indeed (5) holds for $i = q$. Since both the basis and the inductive step have been performed, by mathematical induction, the statement (5) holds for all natural numbers i . So we proved the following theorem.

Theorem 1. *If there is an order-bounded sequence with true values f_i for the given non-linear third order difference equation (1), then the general solution to this equation has the form (5), where y_0 , y_1 and y_2 are arbitrary constants.*

Cauchy problem. If the Cauchy problem is considered for the equation (1), then the following initial conditions shall be provided

$$y_k = \alpha_k, \quad \alpha = 0, 1, 2. \quad (7)$$

Given these conditions, the solution to the problem (1), (7) takes the form

$$y_{i+3} = \alpha_2 + \sum_{k=0}^i \frac{(\alpha_2 - \alpha_1)^{k+2}}{(\alpha_1 - \alpha_0)^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p, \quad i = \overline{0, N-3}.$$

Boundary value problem. If we consider the boundary value problem for equation (1) with boundary conditions

$$y_2 - y_1 = \alpha_1, \quad y_1 - y_0 = \alpha_0, \quad y_N = \alpha_N, \quad (8)$$

then in accordance with (5) we obtain the following solution

$$y_{i+3} = y_2 + \sum_{k=0}^i \frac{\alpha_1^{k+2}}{\alpha_0^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p, \quad i = \overline{0, N-3},$$

$$\alpha_N = y_2 + \sum_{k=0}^{N-3} \frac{\alpha_1^{k+2}}{\alpha_0^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p,$$

Substituting the last expression into the equation, one can get the following

$$y_2 = \alpha_N - \sum_{k=0}^{N-3} \frac{\alpha_1^{k+2}}{\alpha_0^{k+1}} \cdot \prod_{p=1}^{k+1} f_{k+1-p}^p \quad i = \overline{0, N-3}.$$

Thus, a single-valued solution could be obtained.

Conclusion. We have studied the Cauchy problem and the boundary value problem for the third order difference equation with discrete derivative and the analytical expressions for their solutions were obtained. Once the form of the general solution to the equation was determined, it was proved by means of mathematical induction. Finally, the constants included in the general solution were studied and defined.

References

- [1] GELPHAND O. A. *Calculus of finite differences*. Moscow, Nauka, 1967, 376 p. (in Russian).
- [2] MEHDIYEV M., AHMEDOV R., EYVAZOV E., SHARIFOV Y. *Numerical methods*. Baku, Teknur, 2008, 376 p.
- [3] MAMMADOV ZH. S. *Approximate calculation methods*. Baku, Maarif, 1986, 264 p.
- [4] BRONSTEIN I. N., SEMENDYAEV K. A. *Reference book in mathematics*. Moscow, Nauka, 1964, 608 p. (in Russian).
- [5] ALIYEV N., BAGIROV G., IRADI F. *Discrete additive analysis*. Tarbiat Moallem University, Tabriz, Iran, 1993, 220 p.
- [6] RICHTMAYER R., MORTON K. *Difference methods for solving boundary value problems*. Moscow, Mir, 1972, 420 p. (in Russian).
- [7] SAMARSKY V., GULIN A. V. *Numerical methods*. Moscow, Nauka, 1989, 432 p. (in Russian).
- [8] HASANI O. H., ALIYEV N. *Analytic approach to solve specific Linear and Nonlinear Differential Equations*. International Mathematical Forum journal for Theory and applications, vol. 3, 33–36, 2008, 1623–1631.

NIHAN A. ALIYEV, TURKAN S. MAMIYEVA
Baku State University
23 Z. Khalilov str., AZ 1148, Baku
Azerbaijan
E-mail: nihanaliyev.info@gmail.com;
turkanmemiyeva@yahoo.com

Received December 10, 2016